MATH usA SewwTions « o 4
4‘ -@ -
.j 1% 29 (Moo AS) 05,45) =8 ano 348§ , P90 Twede 15 m

@ Lel T 3o Tre NyMmOLA OF Hauld N AN BT, 26 1< T <24 AND

NT 2 11 Moo 44)

THen WT 24T =\ Foa seme Y€ 2 Uswwe Tive Eucliomgn ALE o2, THM
P . ' ,
R TN S .
P T S e 5% ) e () 21, s
a5 ¢ -85 (a4) ¢ 121 ) 19 Takiué T,z 187 ano T, = &85
4t a o] -a ! ’
] ~35 1 r:l&‘?*-‘.""u' ‘[.‘:a,‘)-g-““ ) u@‘i
$s T = 181 ‘—:"DQI (00 %) , Te AN 08T AT ',ﬁ
- * ‘ MRS

@ﬁ) W 1L4 24, Q4 nAad AN iNVEAST Ma0 14 =R (q',4.,_.‘) so G =\|‘3'_f‘q‘““,\ .3,
b) — - = = - —_ —_ —
Te@, T:(E, 58], 8= () =30, V@, T2 Grear (i (e 4)

tu

N
LoV
i
&
>
i

] lMoO&]' X (Mc.w.s‘)J X S6 (Moo 3)

M, 2y Ma = M3 2110
=t s 222
I 4 (men a) 2 Mas v) 2t tMan &)
Let 9, oz , Ja =, I3 24 Te el

X = tivy . - - .
x R JER R R BN e YT | _1.\1'. (Tnu\cF..«e_ x:z\«Sor‘ Te2 swes acL Sacn 'N"Tcec/u)

@ X =4 (Mmap -l)’ X £ 3 (Mo 1)

M, =\ Ma Tt
S 6 Mes ) 2 —6 (Moo 1)
ter Y,z Ane fa = - Ts 6GeV K""""')"'g(“)('s):ﬂl

T

@5 X 23 (mew V1), 3o x = 3e1T Then X 24 (M u) Guwes 3v\1T Z 4 (Moo )
fo 6T I L (mad ), Teens €T SWQ (Moo v}, 30 T Z A (M3 1) awna Tncqc;.to“e
T_.:)‘ e d Tas _)\_: 3 evl(avrnu) =27 ¢ 187U , So "X\ES'I (Mao lX"])-)

—— i 1 . s it - S e -

@ xEl(MoD-L)‘ XZQ (Moo 3), X I3 (Med>5)

M, =13 M =10 M3 =6
It Meo ) 21 (Me0 3) = (Moo ¥)
LeT 1.'...1.'.; ‘I..‘.':,:__L. 1_{,:‘ Ts €T
X= vetS. rda0nt +3.6.00 =53 | P tXEJS (Mooscﬂ

@ x I3 (mev 5.)) so ’E._.i,..i,"s.?' Teen X T 2 (Moo 3) G.wes 3t S5T T 2Q (Mew 2)

20 4T 2 -y = d (Med 3) ano Tz | (mass),

sowce X E LMo k), & €1Fu s M2 A e v I (Men 3)

Trtand T:)#gd’ 3o

X =3 ¢S5l €3u)= 8+154u,

Treen W IAVH) Gives X = 2ri5 (Vi) = A3 r30V , 3> (X £ &3 (Moo sc)l




MATIH LS A SolaTiong - (W 4

; - = g X 2 6} 46 mAE
‘}5_® Lef X Be The NuMALA OF BANANAS, 30 f.;-& (Moo 1) anNo .):__o (Mool"])’ Wit (A ¢

Twem X 219T, 30 VITZ6 (Moo 11) swves 6T 24 (Mao ) anwo mence T St (Meo i)

Then T ientld Gves X V1 (tenu) =t t8TU ' Since X ’..%8) The TMmauesT Possmdie

Vague oOF X 3 Gilen 8 SN Y &/ :iaw(—! DaNANAS,

xTq (mwic) , XZq (Moo i), xZ o (men3)

Sinle

XZa eoid), XI3T 5 3 xiq(Meon) ewe> 13729 (o0 11)

X=13 (Frrad) = ~i3 b3y, A

THen T Z1o = -t (Moo ..)’ 3o t:—\-rnu' Then

e e

X 29 (Moo 16) mPues -3+ 143U = § (Mop to) ann ThedcFsRe 34 I 2 2 ta (Mao o),

THen U 24 (Moo 16), Sa u=4eioV @des X T -3 v 43 rrov) s 59 - i4doV

TAnNG V=0 Gves \x =359 Ad BN B SulH nTeGeR

e esans

(23] X 9 (Mw.c.)) X9 (Moo i), XZ0O (Mo013)

N'.- .'.’ 143 Ma = i3 ¢ M3 o
2 3 (Mos ) 2 ~XMop 1) T @ (Moo i3)
Ler Y,z 9 I 2 -6 13 = W Te GeT

o —

i:q(ws)("l) + G (130)(~6) ro(uo}(n) : As A ToluTiow,

Moge GeveAawlyY, X T 1934 = 559 (Meo i430)

S i

fi

68) X4 (Mmeve), X I3 (Moo s) (6,157) =3, ano £ 213 (M3 )] 80 Tweae 13 A ForuTiaw,

Tinte X

34150 24 (Mob ), 30 15T 2 -9 (Moo 6) A~o Hence 3T 23 (Mov 6

59 T LedU Fix seme ué Z THen X213 €15 (1vQu) = A8 + 3cu

BRY x 24 (mon6), XZ13 (Mao§)  cwves

'3 (mens) se X Zo (MeoR) , Xt (Moo 3)

h

4 (mad a) )

4 (Moo 3) |, XZ13 (Moo 5) Xzt UMmens) , XI 3 (Mons)

[T

Twen X Z0 (Moo a)  xZ1 Moo 3F) X3 3 (Moo 57)

M, =5 Ma = LO My 26
T4 (Mo g) 2t g) = v (Ve 57)
Lev 4, =1 Y2 = Y3 = TV 6GeV

X2 GaAS. 14+~ 1 \0.1 ¢+ 3:6.+1 = A3 N S0 \i&;&8 "”“‘"“)—l

@ X 1 (Meo Q) X Z4 (Mad vY)

J.onte (O,157) =5 ano ;4" (‘\'“35)" Trere 3 uo SoLyV,oN ‘

R Y

ea AT 2 3o Moo 11},

0

13 (Vo0 1857) X =z i3 213 T Fou 3ome Te E' THen X Z 4 (Moo &) suwves
4

). Thew T (M

lou .z))

So Lx I AE (Mmoo

30)]

e,

T ——————



SoLATONS -« (w, 4

MATH 5 A

43
- XI5 (Meoo), X

9 23 (Moo 1)

z3 (Moo |o)) X = 8 (MoD 157)

28 (Moo 3), anp 3 I3 “’005)’ Trcde 13 A SoruTaw,

3enCe

SiNce X 2 & (Mooss), X8 «1ST  Fed semy Te &

SiMte X 23 (Mw o) 4+ 157 = 3 (Mavo) 28 15T 2 =5 (M0 ic ) Amo Tivus 5T £5 (Moo (o)
tead Fod  3ama uei—, Anao X = 8rl5(tf.>.u)~;.131.g°q '

{Mod A), 3o T<=
A3 +304 25 (Ma0 ¢ )

Trwen T =\
It g
Nle X =S5 (Naﬂé)) il EwWes C 0 (MOO(;)
’

TireReFon o KE X3 (Moo 5@7}

¢ - g -
< XI5 (Hwe) XI3 Mosie), XI§ (Medi5) Gives
XI5 Moda) | XRI3 Moo ), XI 3 (Mao a)

S (Moo3) , XT3 Moo 5) , =g (Moo 5)

x
I3}

XTI Med &), X2 (MaoS)

a3 X I 1 (Moo d)
XZX (Mo03) , XI3 (Mw§), X.Z2-3-tM4s06'5)
XI& (Meo3s), X 3(Meo 5) 5

1
1]

X It LMoOo'l))

TireReETs3 o

s Placeeond A% .~ (4-b) G.Nes \f 243 (Moo 3:.)'

9z (Moo q ) x

Fivce & EF 1o (Moo 5)

& (Moo 15) XZi0 (Meo 25)

»
AnDp 5 (15, as57) 5 Trene i @

(L]




MATH LI5A CH, 6 SccuTiand

6” —@ .AE :la)ﬁlgr+n5"é|‘758.{’1-l°0lll'A

@ Siuce Al

ti
Iy
14

te b ot bt = -1 (Mc;)l:B}J

= 1. ()0 3.9) (4aie) L (508) . (bt )i T v

s0 13| (1l ),

3]

161N 08 = L (Moo 19) Gwes 16, (ma)(-1) = g (Moo iq)

@ |8"§_| (MoolQ)' So

Ano TheAermsge of smi (Mo 14 )

30 437 z=arT.2% - (.23 Thend us.nG WiLsen's Tﬁe,oReM)

@ a2t 431-4
-t (Ma0A3) swes 181.18,20.30.4Q I ~1 (Mon 33)

lal’ =z -1y (Moo 19 i Amo A

V8L C4)(-3)(-R) (1) = -1 (Moo A3),
Z = o1 (Moo R3),

it

EN

AND Tekerade

-1 (Moo 437) 30 13} ‘s (Moo 437)

Ano A2l 2 -1 (Moo 43),

180 2 <t (mwo M) amoe 13V = oy (Maoli)l 181

Jinde

@ BY Wiwnson’s TrcokeMm | 46'. = -V (Mo 4)

THeay 4—0‘..4»(‘4"2 =z -1 (Mmoo ‘TS)J
THeR eV 4‘03 ¢ A SoLaTioN LR Twe S3YsTeMm

X I At (Mov 433
T4l sgme T(--Z'; S X I Qi (Mso 43)

so 4ol (-AJ(-) 242 (Moo 43) Gives *’ro! = 21 (Meg 43)

X Z-t (Mo 4)1) asao

Finle X T -y (Moo 41y X = -t 40T

IMPLies — 14+ £4T = 34 (Mmoo 43),  Then —-2AT zZ 22 (Mo 43), s¢ Tz vz 3 (Moo 43 )

Then T =32 «43U o4 Some uef} AND )\-‘-l\—-4-l(3)\+43u)=t-3ll1-\’763u
—_— T ,

e

Trus ‘\’0'. = {137 (M0 t163)

8y Ee,armﬂ"a _'neor\e-w) 6‘0 =1 (Moo .,);

L1000 200
56 G - (6(0) 0 = l.loo EB(MOO “>‘

i (Moo l']) 8Y Feamat’s Tneonem
4

| 63500 = @ (Mep 11

i

AI,OAO,OOO

i

(J\ce)m.foo

Treeme 18 a4 = oy (M\’.\O")ss)l Sa la‘.‘lz‘g_l(mw{ﬂ



